Marning Sate ()untation Factory/( omnany										NEW PRICE NEW ITEM	JM Euro s.r.o. 2022-04-29
No.	ltem	Photo	Code, Spec.		Quotation 부가세미포함)	Qty (MOQ)	Unit		Amount	L/T	Remark
1	PE White tarpaulin		PE 250 g / m <sup>2</sup> water-resistant, UV- resistant and mold-resistant. With eyelets on the edges. Size: 10M*3.5M	€	279.30	20	pcs	€	5,586.00	2~4W	단가 재확인필요 주문제작 가능. 방수 레자 천막지
2	Tarpaulin cover		PE <b>10x15Meter</b> , 70g/m2 color: Blue or dark Green	€	59.12	10	pcs	€	591.17	0.5~1W	천막지 공사 야적자재 덮 개용, 사이즈 다양 함
3	Label Remover 500ML		Effective Simple removal of adhesive residue, labels, and adhesive tape Dissolves stubborn dirt such as wax, rubber abrasion, silicone residues, permanent marker, oil and grease	€	8.65	24	pcs	€	207.60	0.5~1W	12pcs/box
4	Wurth Brake Cleaner Uni rapid 500ML	REMASSING REMASSING REMASSING REMASSING REMASSING REMASSING REMAINS RE	For cleaning and degreasing during maintenance and repair work. Fast flash-off behaviour and excellent cleaning performance Fast and effective removal of soot, grease, brake dust and oily residues Residue-free cleaning	€	1.95	72	pcs	€	140.40	0.5~1W	24pcs/box
5	MAINTENA NCE OIL MULTI 400ML	WURTH HULT MULT Market Mar	Versatile multi-functional spray for a range of applications Lubricates, cleans and maintains Removes rust and protects against corrosion Resin, acid and silicone-free Does not attack rubber, paint or plastics	€	6.10	24	pcs	€	146.30	0.5~1W	WD40 대체품

	Warning Safe Quotation_Factory/Company										JM Euro s.r.o. 2022-04-29
No.	ltem	Photo	Code, Spec.		uotation 가세미포함)	Qty (MOQ)	Unit	1	Amount	L/T	Remark
6	Masking (Line) Tape		50mm*33M Yellow, red. Green, mix	€	5.85	24	roll	€	140.40	3~4D	24pcs/box Brand: 3M Good Quality Stock: only red !
7	Knotless safety net		PP, 5 mm, <b>eye 100 mm</b> , rope around the entire circumference Size: 10*18meter	€	5.72	180	m2	€	1,029.60	3~4W	<b>단가재확인요</b> To meet the conditions given by the certificate, it is necessary that the size of the net with the length
8	Knotless safety net		PP, 5 mm, <b>eye 45 mm</b> , rope around the entire circumference Size: 10*15meter	€	10.95	150	m2	€	1,642.50	3~4W	of the shortest side is at least 5 m. In the case of smaller dimensions, it is necessary to define the height of fall
9	Kernman Tle Rope		Kernmantle rope Semi Static diametre 10.5 mm Material : Polyamide Standard roll size: 200 Meter Compliance: EN 1891:1998 Type	€	672.00	1	roll	€	672.00	2~3W	200meter/roll
	polyamide twisted rope		polyamide twisted rope terminated with eyelets diameter 14-16 mm available in two lengths: 10 m and 20 m material: polyamide standard: EN 696	€	33.28	3	roll	€	99.84	0.5~1.5W	
11	Safety Knife	martor (	Lightweight safety knife with trapezoidal blade Product dimensions :143 × 16 × 36 mm Weight :52 g Cutting depth : <b>19 mm</b>	€	14.40	10	pcs	€	144.00	1~1.5W	

	Warning Safe Quotation_Factory/Company										JM Euro s.r.o. 2022-04-29
No.	ltem	Photo	Code, Spec.		Quotation 루가세미포함)	Qty (MOQ)	Unit	Α	mount	L/T	Remark
12	Safety Knife	martor	Catalog number :BN M445 Product dimensions :100 × 7.8 × 25.5 mm Weight :35 g Cutting depth : <b>8.5 mm</b>	€	7.68	10	pcs	€	76.80	1~1.5W	
13	Common Rope		Red Color The rope is made of polypropylene. Color red with 11 mm infill. 100meter/roll	€	0.49	500	meter	€	245.00		
14	Plastic chain Red/white		Plastic chain thickness <b>8 mm</b> D: <b>25 Meter</b> , red / white Plastic chain to create barriers. Thanks to the practical plastic chains, you can easily separate the space and create a barrier. It is suitable for forming rows of people at the	€	59.64	8	pcs	€	477.12	1.5~2W	possible Yellow/Black chain
15	Plastic gardening post	-	<b>10 pcs/box</b> , red-white	€	142.55	2	box	€	285.09	1.5~2W	
16	Connecting link		8mm, Accessories for connecting the plastic chain to the post. Add a practical link to your plastic chain for easier connection of the chain to the barrier post.	€	0.46	50	pcs	€	23.00	1.5~2W	
17	Plastic chain Red/white	Adr Of	Material polyethylene, Color white / red Length 25 Meter, Suitable use Eye size $49 \times 29 \times 7.5$ mm, Weight 2.7 kg Specific gravity 110 g / m, Temperature resistance -10 °C to 75 °C	€	33.01	8	pcs	€	264.06	1~2W	

## Warning Safe Quotation\_Factory/Company

NEW PRICE

NFW ITFM

JM Euro s.r.o. 2022-04-29

		5		<u> </u>				INEVV ITEIVI	2022-04-29
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
18	Connecting link - coupling "S"	<b>8</b>	Material polyethylene, Color Red , Width 55 mm Length 9 mm Height 30 mm , Suitable use Weight 0.01 kg Temperature resistance –10 °C to 75 °C	€ 0.28	50	pcs	€ 14.00	1~2W	
19	warning corn		Material polyethylene Product dimensions 27 × 27 × 50 cm Color orange / white Height 50 cm Weight 0.6 kg	€ 7.45	40	pcs	€ 298.08	1~1.5W	
20	warning corn		High quality plastic cone with robust construction, black base and reflective stripes, available in sizes 75 cm (30 "),	€ 13.30	30	pcs	€ 399.00	3~4W	
21	warning corn		The cone can be used with a barrier tape handle on top of it to create a continuous barrier. Barrier tape is sold separately Height :500 mm Width :290 mm Color :Red / white Material :Plastic Weight :1.1 kg	€ 27.60	40	pcs	€ 1,104.00	1~2W	

		NEW PRICE	JM Euro s.r.o. 2022-04-29						
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
22	Barrier system for traffic cone		Connector with retractable barrier tape suitable for mounting in the upper part of traffic cones. The connector offers 4- way connectivity with receiving brackets on three sides. Suitable for outdoor use. Length :3000 mm / Height :240 mm Diameter :100 mm / Material :Plastic Tape color :Red / white Console color :Red / Weight : <b>0.4 kg</b>	€ 17.25	30	pcs	€ 517.50	1~2W	
23	Traffic cone		Safety cone with reflective strip. The safety cone takes up minimal space when packed. Height :420 mm / Width :250 mm Color :Orange / Material :Plastic Weight : <b>0.5 kg</b>	€ 14.40	30	pcs	€ 432.00	1~2W	available 620mm, 휴대용
24	Warning Bar		tapers for connecting cones. The bars are telescopic with a range of 110-220 cm and in two colors / yellow-black and white-red /.	€ 24.60	30	pcs	€ 738.00	4W	
25	Warning Line tape		70mm(width) 100Meter/roll	€ 8.18	20	roll	€ 163.60	1~2W	
26-1	LED Light Stick	- I day water 1000	offers a high luminous flux of up to 350 lumens (ANSI) and an afterglow of up to 126 meters . This version offers easy operation and four levels of light output with an operating time of up to 200 hours . Control	€ 39.90	10	pcs	€ 399.00	5~7D	

		NEW PRICE	JM Euro s.r.o. 2022-04-29						
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
26-2	Red Traffic Wand		Red signal cone It scatters the originally very narrow light beam of the reflector in all directions. The luminaire with a traffic warning cone can thus be used, Length 18.5 cm, outer diameter at the reflector 3.0 cm	€ 5.50	10	pcs	€ 55.00	5~7D	compatible with No. 26-1 사이즈 확인요
27	Flashlight mounting rechargeable		LED mounting lamp, 60 leds(700lm) - high luminosity and light brightness at min. 4 hours, recharging time approx. 2.5 hours, 230V / 50Hz power supply or 12V power supply in the vehicle, suspension hook - magnet for attaching to metal substrate, shockproof, waterproof	€ 47.43	4	pcs	€ 189.73	2~3D	
- 28	Powder fire extinguishe r		Extinguishing capacity 8A 55B C Extinguishing agent weight <b>2 kg</b> Temperature range -30 ° C + 60 ° C Device weight 3.65 kg Certificates EN3, CE Fire classes ABC	€ 21.82	20	pcs	€ 436.48	1.5~2.5W	possible 4kg/6kg
29	Powder fire extinguishe r		Extinguishing capacity: 34A 183B C Extinguisher weight: <b>6 kg</b> Temperature range: -30 ° C to 60 ° C Device weight: 9.6 KG Fire classes: ABC CERTIFICATES: EN3, CE <b>+ wall bracket</b>	€ 29.23	20	pcs	€ 584.64	1~1.5W	
30	Cleaning Cloth 천보루		Mix-Material mixed color <mark>10kg/pack</mark>	€ 12.32	10	pack	€ 123.20	0.5~1.5W	possible mix material / White color 대량주문가격협의
	discount				1	time	-€ 861.26		3,000€~ : 5%

		NEW PRICE							
		warning	Safe Quotation_Fact		pany			NEW ITEM	2022-04-29
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET express 단독차량 160~190€ 1DAY	€ 35.00	1	Ship	€ 35.00		1,000€~ : Free (부피)중량물 제외 (예:보루,헬멧,소화기.)
	EXW Trnava								

EXW Trnava(SK)

Payment : In Advance

If the qty is changed , probably the price will be changed

Leading Time; counting after payment confirmation

https://www.jmeuro.com/warningsafe